Esercizi
Si dimostri per deduzione naturale e risoluzione le seguenti conseguenze logiche
1. E-(AANB)— -AV-B
2. E-AV-B— =(AADB)
3. E-(AN-A)
4L EEPVRANQ—R)— (-R—P)
5. =(A—B)— A) > A
6. =E-(ANB)A(-BAND—-C)—D—(BVD —-CVA)—-C
7. E(A— (B—C)) > (AAB)—C
8. =-(AVB)— (-AAN-B)
9. E=AA-B — —(AV B)
10. = —((AAB) - C) = =(A — (B — ()
1. E(F-GVE)— (G—~-LVE)—(L—>F)—-L—E
12. F(CNG—E)—-(-L—-EV(C)—-GVL—-L—EFE
13. E=(AAN(=AVBVC)A(=BVD)A-CA-D)
14. |=
15. =
16. =
17. =

18. =
19.

AN-B—C)— (BAND—-C)—(D—A) —-D—-C
FAN-G—L—FE)—-(GNL—FE)—-FANL—E
F—GVE)— (G——~(LA-E))— (-LVF)—L—E
FAG—E)—(H—EVF)— (-G ——-H) - H—E

FNG—FE)—-(-E—-GV-L)—(L—-F)—L—E

~—~ o~~~ N~

20. |= ~(3zP(z)) — Vz-P(x)
21. |= ~(VzP(z)) — Jz—P()

2. ((3xP(x)) — Q(c) — VaP(z) — Q(¢)

23. = ((VaP(z)) — Q(c)) — FzP(z) — Q(c)

24. Vo (A(z) — (=B(f(z),z) ANVyB(z,y))) A Jz(A(z) NA(f(2))) E L
25. =3zdy(A(z) A B(z,y)) | Vo(A(z) — —B(z, f(2)))

96. Jz(A(z) — B(z)),Ya-B(z) = ~Va(A(z) A CO(x))

27. k= (JwA(z) — Y2O(z)) — Ya(A(z) — C(z))

98. k= Ju(~A(z) — A(f(z))) AVzC(z) — Jz(A(z) A O(x))



